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Sx = 0.834 Sy = 0.769 f Sx = 0.834 Sy = 0.833

hi ¥ dx gxEamR iy e e Sk % dy dy  (dyh) X Sy hi ¥ dx AR (/)RS L dy dy (dyh) xSy
R4 300 1775 066  2.190 1.826 2389 074 2477 1.904 :. R4 300 2652 0397 2550 2.126 2628 041 1.357 1.130
R3 300 1709 179 5973 4,980 2315 037 1.227 0.943 ! R3 300 2575 096  3.200 2.668 2587 055 1.830 1.525
R2 3.00 15300 062 2057 1.715 2278 085  3.160 2429 | R2 3.00 2479 086 2.877 2.398 28 ORI 2033 1.861
Rl 340 1468 077 2253 1.878 2183 L19 3491 2.684 ‘ Rl 340 2393 058 1.691 1.410 24.65 0.65 1.926 1.605
RI-R4 340 1468 077 2253 1.878 2183 119 3491 2.684 ; RI-R4 340 2393  0.58 1.691 1.410 2465 065 1.926 1.605
14 3.40 1392 091 2.668 2.224 2064 140 4109 3.158 22 3.40 2335 073 2.144 1.788 2400 076 2229 1.858
13 3.40 1301 1.04 3044 2.538 1925 159  4.668 3.588 21 3.40 2263 085  2.509 2.092 2324 089 2618 2.181
12 3.40 GRS 5SRO 2.820 1760 EL75F 115150 3.966 20 3.40 2177 097 2847 2374 22355 101 2.979 2.482
11 3.40 1082 125 3.676 3.065 15890 190 5579 4.289 19 3.40 2080 107 3.153 2.629 Z1Eg4 SR 9 T 308 2,952
10 3.40 9.57 133  3.909 3.259 1401 201 5.900 4,535 18 3.40 1973 116 3415 2.847 2021 122 3579 2982
9 3.40 8.25 1.37 4.032 3362 1200 202 5947 4.572 17 3.40 1857 123  3.626 3.023 1900 129 3803 3.169

8 340 6.87 138  4.062 3.386 g98 203 5971 4.590 16 3.40 1734 128 3750 3126 x| 1770 134 3932 3276 %k
7 3.40 5.49 140 4124 3438 K| 795 206 6059 4.657 *k 15 3.40 1606  1.23 13,621 3.018 1637 128 3.776 3.147
6 3.40 4.09 139 4079 3.401 589 204 5994 4.608 14 3.40 14 8300l 3 448 2.866 1508 1.2 3.556 2.963
5 3.40 2.70 1.24 3644 3,038 3.85 1.85 5435 4,178 13 3.40 1366 118  3.482 2.903 1387 "2 3606 3.004
4 3.40 1.47 Q2216 1.898 2.00 143 3329 2.559 12 3.40 1248 191" 3550 2.967 1265 125 3685 3.071
3 3.00 0.69 049  1.637 1.364 087 072 2400 1.845 11 3.40 1127 124  3.638 3.033 1139 128  3.765 3.137
2 3.00 0.20 0.06 0203 0.170 0.15 0.05 0.150 0.115 10 3.40 1003 1.26 3.694 3.080 10.11 1.29 3.803 3.169
1 0.14 0.11 9 3.40 8.78 1260 57090 3062 882 129 3.791 3.159
8 3.40 1.52 126  3.694 3.080 7.53 127 394 3.120
B SRTREENE | = 0.6x1.4x @ yxRax*xdx = 0.6x1.4x @ yxRay*xdy 7 3.40 6.26 120  3.541 2952 G600 RSRYD. 2.985
6 3.40 5.06 114 3350 2,793 5.04 1.15 3.379 2.816
= 2.100x 14.68= 30.83 (cm) = 2.100x 21.83= 45.84 (cm) 5 3.40 3.92 B2 . 3979 2.7134 3.89 T2 3303 2.752
4 3.40 2.80 1.06  3.106 2.589 2.7 1.05 3.004 2,578
3 3.00 1.75 078  2.587 2,157 JZR =30 12:439 2.027
2 3.00 097 036 1.867 1.556 089 056 1.853 1.544

1 0.41 0.43
E Bl | = 0.6x1.4x ayxRax*xdx = 0.6x1.4x a yxRay*xdy
= 2.100x 23.93= 50.25 (cm) = 2.100x 24.65= 51.77 (cm)
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